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Grade 11                   I Mid-Term Test – Mathematical Studies – October 2010                                          
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Marks: 40
Date:









Time:   45 min


Answer the following questions :-

1.
Give all answers in this question correct to the nearest dollar
Radha wants to buy some land. She can choose between two different payment options.

Both options require her to pay for the land in 30 monthly installments.

Option 1:
The first installment is $2000. Each installment is $100 more than the one before.

Option 2:
The first installment is $2000. Each installment is 5 more than the one before.

(a)
If Radha chooses option 1,

(i)
Write down the values of the fifth and seventh installments;


[3]

(ii)
Calculate the value of the final installment;




[3]

(iii)
Calculate the total amount that Radha would pay for the land.

[3]

(b)
If Radha chooses option 2,

(i)
Find the value of the sixth installment;




[3]

(ii)
Show that the value of the fourth installment is app. $2315


[3]

 (c)
Radha knows that the total amount she would pay for the land is not the same for both options. She wants to spend the least amount of money. Find how much she will save by choosing the cheaper option.






[4]
2.
On Rahul’s 21st birthday he was given an allowance from his parents. He was given the following choices.


Choice A
$50 every month of the year.
Choice B
A fixed amount of $550 at the beginning of the year, to be invested at an                       interest rate of 12% per annum, compounded monthly.
Choice C
$35 the first month and an increase of $5 every month thereafter.
Choice D
$40 the first month and an increase of 5% every month. 

(a)
Assuming that Rahul does not spend any of his allowance during the year, calculate, for 
          each of the choices, how much money he would have at the end of the year.  

[12]    

(b)
Which of the choices do you think that Rahul should choose? Give a reason for your answer.









[3]
2.
The tuition fees for the first three years of high school are given in the table below.

	Year
	Tuition fees
(in dollars)

	1
	2000

	2
	2500

	3
	3125

	
	



These tuition fees form a geometric sequence.

(a)
Find the common ratio, r, for this sequence.





[2]

(b)
If fees continue to rise at the same rate, calculate (to the nearest dollar) the total cost of 
          tuition fees for the first six years of high school.




[4]
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